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Total Tj . :
Me : 3 Hours 15 Minute Full Marks : 80

IOTE: IW 15 R quite : 80
General Instructiong / v fdw .

l. This Q_ucstion Booklet has two Parts — Part-A and Part-B.

T - § R v — wmea 7o wmeB )

2. Part-A is of MCQ Type having 30 marks and Part-B is of Subjective
Type having SO marks.
HM-A 4 30 3% & qgfawedia w1 qu1 wm-B i soaimasﬁmﬁamél

3. The candidate has to answer in the Answer Booklet which will be

provided separately.
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4. Part-A — There are 30 Multiple

ACT

Commerce
Choice Questions having four (4)

options (A, B, C & D). The candidate has to write the correct option

in the Answer Booklet. All questions are compulsory. Each question

carries 1 mark. There is no negative marking for WTONg answer,
WA — YA 30 wEfawedn yw € R 4 R (A,B,cmn D) &
qﬁmﬁﬂﬁm—gﬁmﬁaﬁmmalwmaﬁaﬁamm

1 37 &1 8| e IW & e FE 37 w78 wmom

Part-B — There arc three sections : Section-A, B & C.

This part is of Subjective Type having Very Short Answer, Short

Answer & Long Answer Type questions. Total number of questions

is 22.

Section-A — Question Nos. 31-38 are Very Short Answer Type.

Answer any 6 questions. Each question carries

2 marks. Answer the questions in one sentence cach.

Section-B — Question Nos. 39-46 are Short Answer Type. Answer

any 6 questions. Each question carries 3 marks.

Answer the questions in maximum 150 words each.
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Sectlon-C — Question Nos, 47-52 are Long Answer Type. Answer

any 4 qucstions. Each question carrics 5 marks.

- Answer the questions in maximum 250 words cach.

WM-B — ¥ wm § 7 wug — @vz-A, B aw C & 3@ wm § fa @y
SR, wY I T G Jetl yen % fawahe @ § g v A e

22 2|
TUE-A — W e 31-38 AAfa &g 3aiw §) 58 6 wwHl & W d

Yol W 2 37F W 21 IR W FI IN TH T § A
TEB  — ¥ ¥ew 39-46 oY It & f 6 3 F IW Y
TAE YH 3 3% W R WA® WA @ IN AfueAw
150 Wi # 3)
WUS-C  — W HE 47-52 9 Iul §) el 4 W S a3 e
YA 5 3% 1 31 YAE ¥ F1 I w250 w5t § 3
6. Candidates are required to answer in their own words as far as

practicable.

el gurvE 3 v A # 3w 3 -
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r Answer Booklet to tp,

7. Candidate has to kand over his/he
Invigilator car;gpu!sor!!y before leaving the examination hall,

atuel] whgn s oigd & aped ) Im-ghAE A F FHAI Ty

ik

Candidates can take away the Question Booklet after completion of

the Examination.

Shan T € & Iwia oliensfl s -y AR @ AR W Ea §)
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Part-A
[-A
( Multiple Choice Type Questions )
( ghwefaye )

Question Nos. 1 to 30 arc Multiple Choice Typc. Each question has four

options. Select the correct option ‘and writc it in the Answer Shect. Each

qucstion carries 1 mark. ‘ 1x30=30

T TS 1 R-30 7% wghwediy yoR 1 TAF v & TN e § ad frwes

TR I G F Red| s w@ 1 30 @ R

1. - Goodwill is

'{A) a tangible asset <{B) an intangiblc assct
(C) a current asset (D) nom; of these
[TLVpan 49080 XC-ACT-{COMP.)-C 5 /40
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(C) =Te] ¥l (D) ¥ @ s T
2. In the abscnc:;: of any agreement, the profits and losses of the firm

arc shared

(A]. equally (B) in capital ratio
(C) both (A) and (B) (D) None of these

ﬁﬁﬁﬂsﬂﬁ%mﬁ.mwﬁ%m—aﬁmﬁwmm{

(A) - AT o (B) t‘{;vh%\aaqgﬁmﬁ

(C) (A) 3R (B) (D) T A %8 T

TLV(XII)-49080 XC-ACT-(COMP.)-C 6/
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appearing in the old Balance Sheet is transfer
(A)  Capital Accounts of all partners
(B)  Capital Accounts of new partners

-~ )
AC) Capital Accounts of old partncrs

(D) None of these

ﬁ?@ﬂ%ﬂ%ﬂm.yﬁw-ﬁﬁaﬁﬁwmmm
<ird &

(A) aﬁa@zﬁ%@aﬁﬁ

(B) T W F g @l 3

(C) arﬁméaﬁ%ﬁsﬂmxﬁ

(D) 37 @ HI§

| TLV(XI1)-49080 XC-ACT-(COMP.}.C 7 /40
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4, The liability of members in a company is
. wlﬁ']ﬂ Limited (B) Unlimited

(C) Stable (D) Fluctuating

T S 8 azz:ﬁ L zrﬁra 2

(A) wifwa B) o

) fexr D) SRaEdAee
5.  Current liabilities include

(A) Sundry Creditors
(B) Outstanding Expenscs

(C) Bills Payable

ﬁ All of these

TLV(X11)-49080 XC-ACT-(COMP.)-C
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] TR § wmite v 2
(A) Ry dwr (B)
(€) ufm (D)

6. A joint stock company is
/, - .
_~{A)  An artificial legal person
(B) A natural person

(C) A general person

(D) None of these

e ——— N ————————
Commaerce

3red A

i & oft

Y T |
() s Fhm =k (B) Wﬁﬁﬁ =t
(C) B =Afh (D) T & B 7
TLV(XII)-49080 XC-ACT-(COMP.)-C 9 /40
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Bonus sharcs are issuced O
(A} Equity sharcholders

(B) Preference sharcholders
(C)  Debenture holders

(D) Al of them

=8 IR Prifia frn s 2
(A) = Han mrfaﬁ =

(B) qEift®R it
(C) ForEaii =)

(D) %9 & wf

TLV(XII)-49080
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8. Debenture holders receive
(A) Dividend (B) Profit
~

(C) Intcrest (D) Nonc of thesc
FOGAUTR WIH W §

(A) (B) M
(C) == . (0) @ FE T

ACT
Commerce

9. Which of the following is not a part of financial statement of a

company ?
(A)  Profit & Loss Statement

L4

(B) Balance Sheet
_,{Cj/lcdgcr Account

(D) Nonc of these

LV(XII)-49080 XC-ACT-(COMP.)-C
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ﬁmﬂﬂﬂqqmm%fa‘rﬁuﬁmﬂmﬂ?ﬁa?

(A)  wm-gf faam

B) k= R
(C) S @
(D) w1 A =818

10.  Profitability Ratio is generally shown in
(A) Simple Ratio ‘__/{B]/ Percentage

C Ti
(C) imcs (D)  None of thesc

mmﬁm:mmw%

(A) Ay I
? (B)  wfewr
€ Ty
D) 3wy +H 3
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(A) Wi e
(B) fieifga qug
(C) Iqmfa ax
(D) %M § Hi 7

13. Shares can be forfeited

(A) for failure to attend meetings

/f{ for non-paymcnt of call moncy

(C) for failure to repay the loan to the bank

(D) for which shares are pledged as a security

TLV(XI1)-49080 XC-ACT-(COMP.)-C 14 / 40
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1. Cash Flow Staicment is related to
W~ AS-3 (B)
(C) AS-9 (D)
Uy g foraeor aarfra 2
(A) Twm.-31 (B)
(C) TwE.-9% (D)
9 Financial .sta tcmcn-ts are
(A)  Anticipated facts (B)
(C) Estimated facts (D)

AS-6

AS-12

UUH.- 6 8

T.ud. - 12 d

Recorded facts

None of these

N(Xm)-49080] XC-ACT-(COMP.)-C
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¥al #1 ww fem o g R

(A) @i ufm et R
B) | uf¥ ¥ yrar T FH W

() ﬁmﬁwﬂﬁwﬂmﬁ

(D) W%mﬁaﬂﬁ%mﬁﬁm

14. Current Assets on the Asset side of Balance Sheet of a Company

include

(A)  Sundry Debtors

(B} Cash in hand

(C) Stock

./6‘ All of these

TLV(X0)-49080 XC-ACT-(COMP.)-C 15 /40



Download PDF from - JACBoardSolutions.com

JAC

ol & anfds forg & gl e o e wofy # anfas 9

(A) fafau 2R

(B) &uH A3

C) vy

(D) FHAMA

15. Cash Flow Statement is based upon

(A)  Accrual basis of accounting -

\/(-B]/ Cash basis of accounting

_ (C)  Both (A)and (B)

(D) Nonc of these

TLV(XII)-49080 XC-ACT-(COMP.)-C
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g wame frm snuifa wrm 4

(A)  THT & Jurh MR N
(B) VwiwA & Vwy YR W

€  (A) 3l (B) @l

(D) w3 aﬁ’fé 7l

16. Interest on partners’ capital is

(A) an cxpcndi.turc (B) an appropriation
(C) ._ a gain (D) none of these
e # o a2
w == B~ fator
€ & | | (D) ¥ ? Hd 7
[Tivx49080 ,xc-ad*r@om.;c

17 / 40



Download PDF from - JACBoardSolutions.com N

SAC]

hip decd partners shall

17. In thc abscnce of partncrs

(A)  bc paid salarics
(B) not bc paid salarics

(C) be paid salaries to the partners who work for the fim ‘;
« (D) none of these

GIEE EEWEN 3T TR A

(A) @ e wRAm

(B) W 78 fem TR

(C)

(D) &8 A ¥ 7

'Il‘Lvtnggan] Xcac,
) ) COMP,]J’"



Download PDF from - JACBoardSolutions.com

[uac o
4. Qenerally debentures are
| m]'/ _churntl (3) Unsccurcd
(C)  Partly sccured (D) Nonc of these
UIITUTaYT R g &
(A gl | B) i
(€ vim: gl (D) ¥ A =

19. Sacrificing Ratio is cqual to

(A)  Ncw ratio - Old ratio
L,-(B)/Old ratio - New ratio
(C)  Gaining ratio - Old ratio

(D) Nonc of these

| TLV(XI1)-49080 XC-ACT-(COMP.).C 19./ 4
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WM 9T T gl @

(A) = HAET -~ T AT

(B) UM IR - T AITA

(C) wiftt g - T FE

(D) ¥ A FK
20.  Which one of the following is not a non-cash item ?

‘/M‘) Cash sales

(B) Goodwill written off
(l - Depreciation

(D) None of these

TLV(XII)-49080
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Commierce

Poa § @ # @ M-dwg e @R 2
(A) T fawa (B)  wafa W e
(C) & (D) A &g T
21. Financial statement discloses
(A) Monctary information
(B) Qualitative information
(C) Both (A) and (B)

(D) None of thesc

iy fyaro vefifa & &
(a) fgE gEm (B) OIS gal
) (A 3K B3 D) WA HE T
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22.  Partner's Current Account is preparcd when capital of partners iy

maintained under

P (A)  Fluctuating basis
(B) Fixed basis
(C) " In both qf the situations
(D) None of these
H@mwmmmm%mmﬁ@@m%
(A) qﬂa?haﬁa TR |

(B) A IR R

(C) gt ufifeuferi

(D) 3 @ 1

[ TLV(x1)-49080 XC-ACT-(COMP.)-C 22 / 40
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General Reserve Account always ahows

(A) | Debit balance

(B) Credit balance

(C) Debit or Credit balance

(D) Nonc of these

AT w9 @ g gt

(A) Mz i (B) ez m

() WeawaiReim (D) wA AR
Financial analysis is usecful

(A) for investors

(B) for sharecholders

(C) for debenture holders

_/(D)/ all of them

TLV(XII)-49080 XC-ACT-{COMP.)-C
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farefta faryetwor 3gaif R

(A) fafameaiag & fore

(B) ﬁmnﬁa’i%‘ﬁf’em_

(C) ForEwiEl & fo

(D) w9 & wit
25.  Which of the following is not a profitability ratio ?
(A)  Gross profit ratio
(B)  Net profit ratio
(C) Current ratio
- ,(D)/Opcrating ratio
TLV(X1)-49080 xc-.\cr-wbm.:-c
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Freaferfen & ¥ emrgrma srom 7@ & »

(A)  EFd AN IR (B) < oM 39T

(C) =y a3 (D) ®EER I
26. What is shown by Balance Sheet ?

(A)  Accuracy of books of accounts

(B) Profit or Io_ss of a specific period

(C)  Financial position on a specific date

(D) Nonc of these
- fufe fasmor s quian @ 2

() gETH e

B) U faftaa st w1 am @l

(&) e e we e Ry

(D) T & #1§ T

| TLV(XT1)-49080 XC-ACT-{COMP.)-C 25 / 40
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27. Dmidend is usuallyv paid

(A} on Authorised Capital

(B8] on Issued Capital

{C} on Paid-up Capital "

AD} on Called-up Capital

TIET SN 2e I 8

.

(a) Fee2 F W

@) FEadEw

€ FEEw

| TLV{XTT)-495080 | XC-ACT-{COMP.)-C 26 / 40
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28. Dcbenturcisa
‘/M]'/‘ Loan ccrtificate (B) Cash ccrtificatc
(C) Credit certiflicate (D) Nonc of thesc
ESLER
(A) TRl HT IHII-TF (B) ®E &1 FHII-TH
(C) W@ F FHI-TF (D) xqﬁ q 18 7

29. Premium on Redemption of Debentures A/c is
(A) Assct (B) Expenses

(C) Liability (D) Revenue

[TLV(X1)-49080] XC-ACT-(COMP.)-C 27 / 40
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Ay
BN
HugEl % Mug g ftemy g ¢
(B) =g

(A) Twfd

(c) af (D) ¥
Expenses on dissolution of a firm arc called
(A) ~ Realisation expenses

(B) Legal expenscs

(C) Loss expensces

(D) None of these

(A) =gt =17 p——
(C) wfma sqg O w8 g

TLV(XII)-49080

XC-ACT-{coMP.).c 28 /4



bownload PDF from - JACBoardSolutions.com

JAC ACT

Commerce

Part-B
H1-B
( SBubjective Type )
( Rreafis av )
Section - A
T ug - A
( Very short answer type questions )
( 3tfa erg 3w v )
Answer any six questions. Answer the questions in one sentence each.
2x6=12
5T B: vt F I ) vdw v F IW e T F Ay

&.L/_Whaf. is meant by Non-current Assets ?

-9 aeafy @ &0 s 2 o

TLV(XI1)-49080 XC-ACT-{COMP.)-C - 29 /40
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12 What are Colin-in arrear ?

W aran R wd £ 2

Whal 1s Current Rauo ?

&

I W W R ?

34 Whai is Gaining Ratio ?
AN - 9qqT ®m R P

35.  What is Cash Flow Stalement ?
g R e am R ?

@9’ What 1s Sacnficing Rauo ?

Aam yua Rk

TLV(X11)-49080 | XC-ACT-{COMP.}-C

30 7 40



Download PDF from - JACBoardSolutions.com

ACT
JAC Commerce
37. In the absence of any provision in the Partnership Deed, in which

ratio do the partners sharc the profits or losses ?

i v Pl e ) sefRiR § anden few s 3 A
Ty 1 e+ € ?

38. What is Realisation Account ?

ageht g 70 R ?
Section - B
TUg - B
( Short anm;rer type questions )

(Fg I v )

Answer any six questions. Answer the questions in maximum

150 words- each. _ 3x6=18
el B: 9 % IW 3| YAS T F I AUHad 150 T H &)

39. Explain the main characteristics of a public company.

gt gt i Iq@ fadivard sasy

| TLV(X11)-49080 XC-ACT-(COMP.)-C 31 /40
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4,000, Rs. 12,009 .

years Werc Rs. "

L}O." Pfoﬁts of last threce

Rs. 8,000, Whatwill be the value of goodwill at 2 YEars purchgy, ‘

average profit ?

Rrod @ =61 & @ 4,000 Fo, 12,000 Fo T 8,000 Fo A | wrfy

T 3haa @™ & 2 a6l % Fa TR EW ?
_/‘u'/ What do you lmcan by Forfeiture of shares ?
Y & T @ Y T GHHA § P
‘-_/42./ Current Assets and Current Liabilities of a company were

Rs. 1,40,000 and Rs. 70,000 respectively. Calculate the Curren

ratio.

U F i 91y wfmi 1,40,000 o off 3k 1] Rre 70,000 %o A
e} I R o Hifs

43. Distinguish between Pr
eference Share
and Equity Share

. ﬁ*ﬁwmm’@mmﬁaﬁwl

[ TLV(X11)-40080 |
XC-ACT-(comp.).c 32 /40
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Commarce

gtatc the various characteristics of an Ideal Financial Statement.

yed fereita oo ) fafm Rrdtwanatl <) wamey

M

;5. What is meant by reconstitution of a partnership firm ?
o A S & [oie & = v R 2

.;6’./ Distinguish between Share and Dcbenture.
N @ HGE § R ffy
Section-C
qug - C
( Long answer type questions )
($d @i wr )

i i i aximum
Answer any four questions. Answer the questions in m

5x4=20
250 words each.

Mwwﬁ%milmmwmaﬁamgsowﬁil

Wplain the importance of Cash Flow Statement.

ﬁarsmﬁam%nﬁﬁ'aﬁmiﬁﬁm

48. What do you mean by Financial Statements ? State their

objectives.

Rrefrr Ryl @ 9 = AR § ? THF] I qan)

TLV(X11)-49080 XC-ACT-(COMP.)-C 33 /40
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A, B and C arc cqual partners. The Balance Sheet on the date of

dissolution was as lollows :

4 Amount Amount
Liabilities Assets ;

(Rs.) (Rs.)
Creditors 11,000 | Bank 3,000
Bills Payable 1,000 | Bills Receivable 2,000“
B's Loan 2,000 | Investment 8,000
Capital Debtors 16,000
A 36,000 Stock 28,000
B 24,000 Furniture 6,000
C 2,000 62,000 | Machinery 13,000
76,000 76,000

——

Assets realised — Debtors and Bills receivable Rs, 17,000,

Investment Rs. 7,600, Stock Rs. 25,000, Furniture Rs. 6,600 and
) }

Machinery Rs. 8,600. Liabilities were paid. Realisation Expenses

were Rs. 500. Preparc Realisation Account.

[ Trv(xm)-49080

XC-ACT-{COMP.)-C

34 / 40



Download PDF from - JACBoardSolutions.com

JAC

ACT

"Commerce

A B WC_Gtﬁﬂﬁmﬂ?ﬁmﬁlmﬁﬁmﬁz%&Hﬁs

= .
A &Y (To) graferal & (%0)
@T(TI 11,000 LC 3,000
< fam 1,000 | s faret " 2,000
B HY 2,000 | fafyam 8,000
4o IqeR 16,000
- 28,000
A 36,000 %
6,000
B 24,000 FHATF
13,000
} 76,000 76,000

gufeagl 6 aq;-ﬁ — 37en W&y fae 17,000 %o, fafmwm 7,600 %o,

@Y1 25,000 %o, T 6,600 Fo Td WY 8,600 Fo| TRAEN =1 WA

& foa mam) et =@ 500 Fo W A Gl F15Y

'(XI1)-49080

XC-ACT-(COMP.)-C
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_% From the following particulars, you arc requir cd to calculate
Current Ratio :
Particulars Rs.
Inventory 50,000
Debtors 40,000
Bills Reccivablce © 10,000
Advance Tax 4,000,
Cash in hand 30,000
Creditors 60,000
Bills Payable 40,000
Bank Overdraft 4,000
%M"ﬁmaﬂamﬁmm%;
famma o
AT D
) -:50,000
40,000
ary fam '
10,000
FIfm 3
. ; 4,000
. 30,000
60,000
24 fas
40,000
& wftufiey
4,000

TLV{X0} 49080,
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sy’ Compute Cash Flow from operating activities of Seemanchal Ltd.

from the following dctails :
31.3.2023 31.3.2023
(Rs.) (Rs.)

Tradec Receivables 1,50,000 1,80,000

/Tradc Payables | 70,000 80,000
Prcl;haid Expenses 15,000 10,000
_Outstanding Expenses » 20,000 12,000
Bank Overdraft 20,000 50,000
_Short-term Loan 10,000 -. 20,000

Seemahcnal Ltd. earned a net prdﬁt of Rs. 65,000 during the year

after taking into account the following adjustments :

i)  Depreciation charged - Rs. 20,000

ii} Loss on Sale of Machine - Rs. 10,000

TLV(XI) 490
E 80 XC-ACT-(COMP.).C
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Muaferfn Rl @ aiver ferfizs 6 afvries st 8 0 wary, wpy

o -
31.3.2022 31.3.2023
(%o) (%)
sl yragand 1,50,000 1,860,000
‘Lafza‘ 4 _ | 15,000 10,000
JHdd =g . 20,000 12,000 -
¥ Hftfyed 20,000 50,000

ATFHTAR H 10,000 20,000 - -

mmaﬁ%mﬁnm%m#mﬁ,mu

I TG T g3
) S R T 20,000 %
i) WY & faseg gy mfy | 10,000 %o

[ TLV(xm)-49080
XC-ACT-(comp,).c 38 / 40



52, a)

Revenue from Operations

Purchases

JAC

Opcning Inventory

Closing Inventory

Revenue from Operations

Carriage lnwﬁrd

Download PDF from - JACBoardSolutions.com

Ks.

8,50,000

4,30,000

1,30,000
90,000
30,000

22,000

Fefafn ge ¥ woa am s A e St

[TLviXT) 49080

WO § N

Y

TR e
3ifom o
CEICE RS o
STt e

b

XC-ACT-{COMP.).C

0

8,50,000
4,30,000
1,30,000
90,000
30,000

22,000

CT

Commaercae

Calculate Qross Profit Ratio from the following information :

39 / 4



Download PDF from - JACBoardSolutions.com

JAC -
co:fm.

b)  Calculate Liquid Ratio Irom the following information -

Current Liabilitics Rs, 50,000, Inventory Rs. 25,000, Gyr
000, ent

Asscts Rs. 80,000, Prcpaid Expenses Rs. 9,000,

Wmaﬁ@WWWMW;

9 RS 50,000 %o, @R 25,000 %o, HTe gfteeafygt

80,000 %o, &g =7 5,000 %o |



